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Subspaces : Kerf IV and infEw

↳> find dimensions of Kerf & inf

-> dimension formula : dimr = dimkerf+ dimint

> find busis ofD& -> columns of a matrix form for f
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we getAf a matrix (once we choose busis of V & W)

Af : (3) : R3-R2
,

to find basis for int
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scan left -> right and pick as many columns as you need to get a basis
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-> Eigenvalues & eigenvalues

Purpose : find most simplest matrix expansion of f : diagonal is happiness

~diagonal

v = R3
, A: (5) = S . D . St

& eigenvectors
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. Is X=3 eigenvalue of At ?
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Is 1 = 0 eigenvalue ? (det (Af-o . (d) = 0

det Af : 1) = B) (0) - (27(-15) = 0 CAns : yes

↳ how to find eigenvector ? find Ke (Af-X(c)

for x=0
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-> Inner product & norms : 3 .. 3 : VXV - R

In practice : symetric positive definite matrix

A = (!2)

so that(v
, >A :+Ar (10,

0) ()(8) = (10,4-1)(2) : 2

↳ Given A square, does it define inner product ? ↳ decide orthogonality ↳

Computeleta b① Symmetric (check) all
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Applications & uses :

(i) A : SDS+ useful to compute A; et

(ii) Decide if A investible
,

(and it yes compute At) an Practiceease
-> dimkerf : 0

(iii) f : view is injective Kerf = So3 (EstW=Vdeff + 0)

(iv) f : vW is surjective Ex dimint : dimh


